4000

1

4000
56350
@ T T
O
N
e}
N
TAER

TH EEiY

2580

(@)
LO
o
N
[@N
e :[9]1
e = i
YU
% B {oE ]
o
e 6 =
o] ﬂ‘" g . =
G ke
RO

AN

AB S

BinEE (1SR

(547 JOWEN-T7(yA7L547)

@ & | KF-OWEP-P4-SW410

(XEES | KRCHOO158% 3

5% B o & BE G

@ EL: % 286 BERE 4 [ evevitrI(—®EEenBL)
@ BER< -2 t16 $S400 4 BRBAD -

® Wt H-100x50x 5% 7 $S400 4 BRBAD- £ +HHITHIZE
® 24t [-100x50x 3.2 SGH400,227 4 Biho - 2+ HENKER
® EIRH t4 FRP 4 £EYLI- MEEY

® L] 0125x 125xt4.5,t6 [STKR400,5S400| 4 BRBND- £ +HERKRE
@ BYaAy it 0125% 125xt4.5,t9 [STKR400,55400| 1 BRBAD- & HHERRRE
Effxvy 7 t3 FRP 1 FEYLI- MEEY

©) Eif28 t4.5 SGH400,227 | 64 Bho - 2+ HENKER
£BHW 416-50x% 30 BEXN4.6 | 4ey b FRBAD- &, AU
@) Bt b M10x 25 BEXN46 |16ty b BRBHD > €

@) BT b M10x 35 BEXN4.6 |24ty BRBEND-

&) Bty b M16 BEEH46 | ey b F40Y Ty Ve
BAf A b M8x 55 BEXH46  |32€y b BREHD > &

® Kby T M16m AR 16

A7~y b 125x50x 3720  |ARAVEHEILI (V| 4 A-n=Avy 99y F(ETIBERHE)
@ Bt b M6x 50 SUS 24ty b ey MR

XABFREWEL 4.5kN/m’ TF.
X A7y MIEATARK (BEARSOWIZU L. BT IAFy 7BER20wtZU L 2 ERL TV ET,
XEBOT A ALHTHE TN/ m UTOBOLO T,
xHUBOARIBEOA. FELLET2ENHVET,

2501 300|250
600

a ¥ ?
74 74
250 250

ARAN

400
O
‘ LO
o [N S
O (@)
< <+ + D)
Ve
50| 300 |{50
C—CEEBN
HER
9 TN NFTIE
2 g 4 / =
= ¢ 7 =
% 8 : J F
| © Ny o L
(/A /4
o
Lo
50 800 50
900
FLEINN



